		a
FROM	INVOICE	
T.PUGAZENTHI	Invoice No.	Dated
NO.189 PERIYAR PATHAI	24-25-P003	02/07/2024
CHOOLAIMEDI	Supplier's Ref.	Other Reference(s)
CHENNAI-600094	01/06/2024 TO 30/06/2024	
	Travel Food Services Chennai Pvt. Ltd 24-	25

S.No	Particulars	Quantity Rs	Rate %	Amount	
1	10'S & 20'S & 50'S & 100 'S Old note Money Exchange	3280000	1%	32800.00	
2	COINS 1 & 2 & 5'S Exchange	51500	7%	3605.00	
	Total		₹ 36405.00		

(Monitopondom 5)

Authorities distributed distributed cart charge distributed for the charge

The	Ju	ne - 2024			
Lows, Dore	100 X 1000 = 1,00 an	DETUEN DATE	Chedine	I do I I	Vermon
A 2:178	20 x 4000 - 80,00	00 500x 528 -2640			
	10 x 2000 = 2010	00	G18 1	autodos	TRA
	7-164.	3/41/000	14:47	14:46	2:46.25
71594					
	100x 1100 = 1,10,00 50x 1000 = 50,00	0 500x 700 - 3.50mm		A	
1	10 x 6000 - 60,00	xx	03/06/24	C80992 1416H23	2.168
	5,80,00	3,50,000	(08470		
6/6/24.	00 X 1000 = 1,00,00T				
	BO X 1000 - 50,000,			7797	T. (00) 2-90/24
	3,40,000		4 9 34	14:37	
	00 × 1200 = 120,000			1 1 1 1 1 1	
The state of the s	10 x 6000 = 100,0000	500×615 - 3,07,000	AP PER	10/00/24	13:5PM
	(0) is = 4 200	\$104,500	0893	15.03	
		500 × 610 = 305000		0	
- 2	0 × 400 = 20000 V	//	1 Jan 19 19 19 19 19 19 19 19 19 19 19 19 19	Se Se Sent	2 46 PM
(6)	- 5000 - 5000	305000	M. P. S.	OF.W.	
	30,600			PAGE []	

DATE	PECENTED	PETUDN DATE	Charles	1 60	VENIO
15/6/24	100 × 1300 - 130,000 50 × 1000 - 50,000 20 × 6000 - 120,000 10 × 5000 - 50,000 6000 - 50,000 9 53,000	\$58,000	15/6/2	any Epsilos Itany	F 2-1
	Have 100 = 10 cm/- 120 x 50 = 60cm/- 80cm/ 20 = 100cm/- Foco X10 = 70cm/ Gotos = 70cm/ Liction	500× 814 = 407000/-	696124	Budgates 19/12/19	7.6
21/6/24	100x 600 = 60,000 / 100 x 00 x 00 x 00 x 00 x 00 x 00	2,20,000 /	* * * * * * * * * * * * * * * * * * *	Office of	T.6
	1000×1400 = 1,40,000 Sox 1000 = 50,000 20 × 7000 = 1,40,000 10 × 6000 = 60,000 COINS = 10,000 U, 00,000	500x800 - H100,000	CORUTO 25/00/2-	Out of the	T-0-2-111
	classmate			NGE T	

I BPI.	日日日日
Guina S	
	To xoldon = 1
Janus Jah	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
N 28	
20/6/2	Tool Cxons
	TARREST OF THE STATE OF THE STA
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	J. Aug.

STALK P

A., F.